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' . Transforming Linear Functions
" Let g(x) be the indicated transformation of (x). Write the rule for g(x).

horizontal translation vertical compression by ection across the
1 e )() — [’(.- x )
left 3 un:ts afactorof = [9(X) = 5 xzfaxis
gix)= F(x+3) %
Z 2(x+3)-3 9(x) = 5 Fx)
Lgx) = =2x73 ] / —-{—— Xt
4. linar function defined by the table; honzdﬁta stretch b o 5 0 7
a factor of2.3) '23 » (x )= %xr? _ Fixy= Zx+7
g(x)= L(8x) - 25X+7 A Tl I ——
5. f(x) =1.7x-3; vertlcal compression by a factor of 0.7 J' G(xX)= /-i19x-2. )

X) =0.7TF(X) =07(l.7x-3) EZT—————

Let g(x) beé the indicated combined transformation of f(x) = x. Write

the rule for g(x). hex)= X =2
6. vertical translation down 2 units followed by a 2—/
horizontal compression by a factor of 2 ﬁ (X ) = ZX "
VY — B o
r}/}; v 5
407 40 7. horizontal stretch by a factor o@followed by - T -]
’ a horizontal translation right 3 units q (X ) = i X Ll

= Wilx—2)= 5 7
Solve. 769 X=%)= 0 &3 )

8. The Red Cab Taxi Service used to charge $1.00 for the first % mile and $0.75 for each

Lex)=]+075(X-1)

" 1 . . o
additional 5 mile. The company just raised its rates by a factor of 1.5. P x =tk Yo miles

a. Write a new price function g(x) for a taxi ride.

q(x)=1.5 fx) =15 [/+675(x-1)] /q(X)’ 0.7 /J+/ 125,

o
b. Describe the transformation(s) that have been applied.
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Name Date Class

Practice C
w8 Transforming Linear Functions °

Grgph f(x). Write the rglg jor gf(x), using the transformation given,
and then graph g(x}1 9% .
1. / 7(\(,’( J

y
2. 107 3. 0,

——
a O o
{g=

\2 —_—
h G 2
8
10
| fx) = x - 5 £ex)  to=%+2
j C X) < f ( X+ ﬁ)zh/orizontal translation vertical compression by reflection across the
. . 1 :
left 3 units a factor of — x-axis
(x)= 3(x+) 5 . X
9 ) g N q(x)c ~F -2
q(xX)= 4x+ Gxd= B 4] 3
& / ) = f
Solve. ﬁ()(): 55():;(»)«5) 7CX): (X)
4. The rate of increase in a certain city's population in 2000 .
was 1.4%. The rate in 2001 was 1.9%.
a. Write a function to represent the increase in population f
in 2000. (X)=0- 014X
b. Write a function to represent the increase in population _
in 2001. aq(x) =0 017X
v Describe the transformation that can be applied to the J ol  horizonteA
% Pleare 10 first function to get the second function. - Compreds on

fohé’

7 ‘;a, ‘f‘dye; { e /(} — . ) i’\
VK'LW:Z— imrfsz“/ [/Wh-c@’ Jﬂj’yé’m b‘/ 7[;"CW O/' //‘?L (M/jéf) k4 ;%

dompreLadnd d. Find the difference between the two possible growth
NS ‘ ;
pre NOT &l //¢ rates if the population in 2030 is 8.5 billion. O 1Y)/ /J

. ¢ab
VekaZald mj ? 5. Let g(x) be the reflection of f(x) across the x-axis. Let h(x) = x — 1 be
the reflection of g(x) across the y-axis.

a. Find the rule for gx). 11 (X)= @("X) @L‘\ 8 =~
b. Find the rule for £(x). 3()(); “fix) Tix) - X +)

c. Graph all three functions on a graphing calculator. Describe the
transformation from f(x) to h(x).
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